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P — 12 fawa— 1forg Jafd— 3.15 ©< quis — 80
1. 999 gg SPUR  —

Gkt I IR gfererd

1. Elk 20 25

2, TSI / JAUT 30 37.50

3. STHIYANT / STt 23 28.75

4. I / AfTheT 7 8.75

I | 80 100 gferera

2, gl B YPR TG JHIR —

39 el & UHR gl DI AR | 3 Ui UH | fet 3fd | Ulowd | |eIad

T

1, IS / agfdebedTchd

2 SIREENNRIED 10 1 10 12.5 20

3. TELRTHD | 5 2 10 125 20

4, TELRTHD | | 10 3 30 37.5 70

5, IBEEIRIEY 5 6 30 375 60

IR 80 100 170 fAde
fadhed JISTT : JATARD RGBT — 10 A

3. v g% &1 R — g BT T — 15 e

3 9. TPTS EERIN gferera

1. BT 3 3.75

2. BINCIEECNIDESE] 4 5

3. SIEH 3 3.75

4. NINEEY 3 3.75

5. T AR Td ARG FHIHIO 4 5

6. ATl TAT JTH A Id] 8 10

7. SECRNIICCGERIE 6 7.5

8. THTH 12 15

9. FHIGA & STFIART 6 75

10. JAqDhe  HHIDRT 6 75

11. afeer 7 8.75

12. fag = nfafa 7 8.75

13. Rgd g 4 5

14. YTRIhdr gd Wiidiehdr ded 7 8.75
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A PRI 9 VoI, SN

T4 ®T 993 (Model Question paper)
HET—12
fereg— wrfera
CAE 200 | 0 - -

sEfg— 3 g 15 e quiie 80 3Hd

e & fou amm fAder

Genral Instructions to the Examinees :
L. TR WAURM 31T TS TR AMie ifaria: f |

Candidate must write first his/her Roll No. on the question paper compulsorily.
I =y &3 sifar €1
All the questions are compulsory.
. v 9o &1 97R &1 78 IoRyRaad 4 8 ford |
Write the answer to each question in the given answer book only.
IV. 51 wedi # sraiNe @vs 8, 99 W & S’ Ub 9 8 ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.
V. 9% uF & (2 9 3iSi wurer J fH uER # e /AR / faREmTE 8
R = 9T B e BT 8 e A |
Ifthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

[ o]
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VI wvs sl 3 yed ueH
A 1-10 1
g 11-15 2
kil 16—25 3
=4 26—30 6
Section Q.No. Marks per question
A 1-10 1
B 11-15 2
C 16-25 3
D 26-30 [§]

VIL. 99 %= 16, 21, 24, 28 3R 30 # A=<IRE fabed 8| 99 wedi § ¥ e
T B famed EAT B

There are interal choices in Q No. 16, 21, 24, 28 and 30. You have to attempt
only one of the alternatives in these questions.

VI s Se=ar 25 &7 orar frg ume U9 o) g=+=T & |

Draw the graph of Q.No. 25 on the graph paper.

www.rbseonline.com
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Eug ‘A’ (Section-A)

S={(0.12):+,} @ e AT wfEar ERei aEe |
Write composition table for addition § -{((). L. 2):+_«\}

T

I
gfz  cot” x+tan 1(;1):— &1, AT X B A7 S1d B |

2

(SR

1
If cot ' x +tan l(;}: then find the value of x .

- o o i
afz A—[O f_} T B-L 0]: 81 a1 BA Sd HINT |
—i o o1
If A= 0 and B=|_  |. thenfind BA.
1 o

afe famg (x, -2), (5, 2), (8, 8) W@ &, T x &1 7+ =10 BN |

If points (x, -2), (5, 2), (8, 8) are colinear, then find the value of x .
jlog.\‘ci\' ST I |

Find _[log,.vdr

AEE G=2/+2)-5F b=2i+ +3k @ INHA F A ArAS W
I IS |

Find the unit vector along the sum of vectors G =2/ + 2 j— 5 and
B=20++3k

[2f bi A}"F[.' b .qw{i b 2@ &1 | ST P |

Find the value of [3; 7 fé]+[f ] fl:j|+[k: ] ijl

s ox+l p+2 z-| o1 =l -y =+l .
oA -l -4 =2 A
T A BT B |
Cox+l oy+2 z-l x=1 I-y =z+I .
Ifline T:’ T and B — = are perpendicular, then find

Unfiled Notes Page 3
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the value of x .
9. 4= @REl & Siqfa guTa g1 e 9ok gRadT § eigu—
x+2y<8, ¥ 20, y=20
Show the region of feasible solution under the following constraints
x+2y<8, x 20, y20 inanswer book.

10. afz 2,"[,4):1’(/3):1‘% 3R P(A/B)=

3

| 2

B P(4uB) S BT

W | o

If 2P(A4)= P(B}:% and P(A/B)=

thenfind P{4 U B)
Ygrs ‘d" (Section-B)

1. AR e fiR- R f(x)=2x+1 B, o weaw @i () = s

Iffunction 7:R— R. f(x)=2x+1 then show that [_f' J] =f

301
12. Al ‘4—[1 J qAT f(A)=A"=54+71 &, 1 f(4) s B

3 1
If f4=|: } and f(A)=A"-54+71 thenfind f(4)

-1 2

13, WM f(x)=|x—1] BT y=| TR WA WRIT BIHAT |

Examine Continuty at x = | of function f ()= \,r - ]|

1
14, j dx FIa P |

I+sinx

1
I+smx

dx

Find |
15, afe v wider ovor 9@ oz el & 6RO HHY o, By BT g9 2
a1 fig BT B sin® o +sin B+sin®y =2

If a vector makes angles «, 8 and y respectively with axes Qv 0r 0Z, then

prove that sin” ¢r+sin’ S+sin” y =2

www.rbseonline.com
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16.

17.

18.

1 1 1
4tan”'| = |-tan”'| — |+ tan '(—}=
R afore 4tan (3] g o (5

vs 99 (Section-C)

31T
VX Ly N
afe cos™ —+cos I—:cx 8l a1 fag #ifoe
a h
¥ 2xy v L,
— ———COoSO+—=sIn" 0O
a abh h*

T
4

Prove that 4tan”’ l)—tan : L)4—tan" L.z
5 70 99 4

[f cos

o
' 2xy
a ah

Or

."‘

x -
~+cos S @ then prove that

T__C05a+}—:=si11:a

7

g x,y,z & S e e e

x ox
v

1+x°

=00 o o fae T wz—

14z

Ifall x, v, z are different and

X X°

vy
I amegs

1+x°
f+y' =0

1427
cosor sing O

A=F(a)=|sine cosa 0
0 0 I

Unfiled Notes Page 5
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coser sinoe O
[fMarrix 4= (@)=|sine cosex O then find A4
0 0 1
19.  @F 2 — ) =14 W A W x+3y=6 & FHARN, aAf¥erd &l
THIEROT ST DI |
Find equation of normal to the curve 2x* — y* = 14 which is parellal to line

X+3y=06.

20. U 7 €FICHE WAy T v S SIS, R A1 60 TR

Aerepaa B

Find two positive numbers x and v, sum ofthem is 60 and xy" is maximum.

21. I\j.\‘: +a” dv FTA BT

SR
Jig o e v A
Find Jm dx
Or
Find j%ff\’
1—6x—9x

22. T p=21-x? T x 38T & FR UREg & BT el ha
PIFAT |

Find area of region bounded by curve y = 3\/? and above y-axis.
23, [(xy)/x’<p<x] 9§ RR &3 B dwe s AR

Find area of region bounded by curve [(11)/ Yy .\']
24, AT G=3+ 42k M p=2/—2j+2k BA G TA ;5 TS

AHdT TPy \Zlf& n A & EQ‘
3127

ﬁq@aﬁﬁm[dﬂﬁ b+¢ c:+ci]=2|:u' b c"]

[ ]

Unfiled Notes Page 6
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Ifa=31+j+ 2k and b= 2f - 27+ 24 then find unite vector j;

per pendicular both 4 and p

25.

26.

27.

28.

Or

Provethat [@+h h+é cwal=2[a b &]
4 YRa® 9T S B 3eliad {3t gRT 'a dife |
AEFHTA 2 =2x+3y
SIRET 4x+6)< 60
2x+y <20 TAMx =0, y>0

By graphical method solve the following linear programming problem for

Maximum z =2x+3y

Constraints 4x+6v<60 and 2x+v <20 andx>0, y=0

guvs ‘§ (Section-D)

3 3 1 5 & 2 1 l:" 2y
gfe X+ =r—; qar X+ v =f'+F T4 fag Fifsw cl: ==Y
ax”
” L3 3 1 5 I3 2 |
Ifx +y :f—F and ¥ +y =/ +Fﬂ]6l].
dv 2y
Provethat ——=—
axt X
2 T, 1
TRy T I”Ogsinxd\‘:—logf
u 2 2
2 r 1
Show that _[ logsin x dy = 3 log 3
[ vYdv fy
ST FHHYOT ¥$in| - |= == vsin| ==X P B AT BT
X jdx X
34T

dv L
ATHA THIHIOT T+2»\tl'=~\'sm" @1 faf¥re &a1 st SRy |
ux

Unfiled Notes Page 7
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AE y=( TA vy =1

v\ dy (¥
Find the solution of the differential equation "'5111(':] I = s ( T] -x

Or
: , o . Codv I
Find the perticular solution of'the differential equation T +2xy=xsinx
[£A9

If y=0 and yv=1
20. T Y@ © F H 0T S| sty el faw e e gt
gRT & T8 §|

{=3m+3n=0 T 7/ +5m -3° =0

Find the angle between the two lines. These direction- cosines are given by the

following refations.

[=5m+3n=0and 777 +5m° —=31° =0
30. Uh g @ aN Head e fh a8 4 ¥ W 3 9R ey I &) 98 Tb
Uy T IOIT 8 3R I8 gdoral € {5 99 W S aTel 99T 6 €1 U@
yiffrapar s BT fF o U arell e drad | 6 2|
Frerdr
ST fe®! @1 U AR SO oIk 8 | Faaet o) wie TRt @ dwear”
HT YEROT ST DI |

A man is known to speak truth 3 out of 4 times. He throws a die and reports
that it is a six. Find the probability that it is actually a six.
Or

Two coins are tossed at the same time. Find the variance of “number of heads”

Unfiled Notes Page 8
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STIXHT I 3P g He=T

Tus I (Section-A)

1. T ARy g9 TR 1 1 17
+310]11 12
0101 ]2
L |1]2]0
2121011
_ |
2 cot x=——tan" - femEaR 2
F4 J
4 o1
cot  x=cot - Waﬂi{q—\r 1y 1 42
J

o I
3 BA=[_';: ()] 1w G;Qﬁl\ k4
o — .
ar Bd= , | I 1 1 61
x -2 1
2 = N
4. 5 2 1f=0 e W A
8 8 1
x=3 WS T W b 1 108
5. I =xlogy—x+c UIE $HI WX Y
I=xlog(x/e)+e¢ UG B W I 250
6.  AFTHA ¢=4i+3j-2k W BRA W
~_C
AE wfew ¢ :H R s

www.rbseonline.com
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4 - I r
G s T
7 2i (r)+.'.(f)+f‘n'.(—2/;) g FRH W
20)+(=1)+(=2)=-1 UI% BT W
o e sl o
x—=1 y-1 z+I e \
-2 =2 1 w

L(=A)+ A(2)+(-)(1)=0 FRT
A= W TRH W

Y
8 |
X—- TR YT W W
4 W B & T W
) 1
o]l 2 + ¢ s>\‘X

3

13

=

10. P{AnB)=P(4/B).P(B)=

T TR TN

|t

["3]

5 5 2 11

P(AUB)=P(A)+P(B)-P(ANB)= 2t l\“ T
U R TR
gvs ‘qd" (Section-B)

11. I '[.\'):'- T & O

Unfiled Notes Page 10
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12.

13.

14.

15.

16.

(r)' = i o w®

. [8 3 .
A =] | T e N

-3 3

[8 s 3 1[0 .
s 3| ar 2fTle | R W

,f(A):[” “] T B TR

0 0

flx) IE B W
S =F(140)=f(1-0) §d HH W

x=1 W Ha ¥ &
1

1+sinx

T B R

[ =tanx—secx+c UIE H¥ T

f&® BRI [ =cosor, m=cosf, 11 =cosy

o ™

Pam®+n =1 o w®

sin® a+sin’ f+sin’y =2 g & ®

=sec’ x —secxtanx

Yurs U (Section-C)

1 I |
2| 2tan' = |=| tan ' ——tan ' — forvgg
( 5] ( 70 99 W

5 o 29
=2tan" F)—ta“ ! g I U9

6931
120 . 29
=tan —— —tan YT T W
119 6931
n N
:I U & IY
3rerdn

X I—L l—¥=cosa RECRIEY
ab V a‘v h-

Unfiled Notes Page 11
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v 2y , ooy oxy?
—————Ccos0+cos  =|l———~— ——
ab  ab a b ah
W TR W
X~ 2xy

) v,
—,——cosot+:’—,=sm‘oc g o9 )
=

a  ab

17, v 1 | +|v 1 vl“ =0 e T

- - 1 z z z
| x X
(1+xpz)|L v o y|=0 U Fo U9
1 z z
xyz=-1 fog &1 ™
18, |4|=1 5 FF R
cosee  sinoe 0
adj A=|=sino coset 0| g ooy @@
0 0 1

cosa  sino 0
_adi A _

A7 = |4‘ =|-sinct cosc O
‘ 0 0 I
(&), =3 s e
19. dyJi N ’
TAFEAN YT @ gauTr :_T HT gAT

Unfiled Notes Page 12
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AT & FHIBIOT x+3vF0=0 UK FH W

20. P=xy T x+y=060 ferEax
P =60y -y UTE B W
TH AM p =45 U & W)
dP

BNT =<0
dv”

y=45 W Fwd g a9 W
x=15 T y=45 QT B W

21. ]=,\'\L\':"r-{n'z —J‘J%d‘\“!'c IS TG

X" +a

- > Y (c': > S
==y +a +T]og{x+ V¥’ +a’ }+c1;ﬂlﬁ FRAT

v
2

24T

] = éj—l o

HEES

1
3 el

o ﬁ+1+3x+
=l | ————m I
62 |2 -1-3x| AR
22.
y=2

BEREE] // I W

A /. N

o 3

x=1

Unfiled Notes Page 13

14

Y2

eI &S B
y el
193

207

255

www.rbseonline.com

www.rbseonline.com


http://www.rbseonline.com
http://www.rbseonline.com

anfie Srmhe = 4jj\/l—.\‘3ci\~ o W
AT EFFA =g T THIE ST Bl

23.
x=1
Wi = S g
0
e el Z_[I.\"a[\‘—_[‘,\"‘ d T
I
e Sl =% EUREEIE]
. axbh
n=r—-m
24, ‘u‘xh‘ A foem iR

Gxh=6i—-2j—8k WIS &

‘a‘xﬁ‘:ﬁ T B W
a l A ~ -
n= 2()[3}—_;—4/{)

3107

(@+6) (b +c)x(c+a)} frmm
(/).+c")><(("+d)=(h‘><(")+(.’).Xci]+(c:><c'i)
|:d+b- b+¢ d+ci]

=2[a b ¢] g o W

[1e ]

Unfiled Notes Page 14
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25.
0, 200\] B

GEREE] 15
D (37]
(0, 10) E

ANC 4
0 (M(»Xs,(»\

USd Tl Vel U

w st g (3 )
B B &9 USYH $N W

Pl ﬁ]@ TRaE r=2x+ v
0(0, 0) 0
A(10, 0) 20

(15
1:[?« 5) 20 arfermam
D(0,10) 30 ey

(15

2 (?, 5) T D (0. 10) R SFRRBTH YT Bl

2| 3@ arfead w9 fAgelt poaen p & e

TTel YIERATS & Yeid 4w W W W B |
Wus ‘§° (Section-D)

26  x)'=—| W B W
x @ WIET 3[adheld B W

Unfiled Notes Page 15
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27.

. i
3x" v +3xy —=0
dv

U x @ WUET Fadher del IR

& dv
—+y—=+==0
e e e

\d—1+2(1J =0
d” x

o :)' 2v

1 =
dxs xT

-

Ao /=_[3 logsinxchx (1)

£
I

‘—1

¥ IR B YU Y
[:j,,: logcosxc  onnn(2)
(1) + (@)

2/ =jf log (sinx cosx)dy

i

27 :J.f logsin 2x (n’u\'—-l‘.:“ log2 dx
21 =1 —logzj:-" 1 cx )|
gt ] = J logsin 2x dx

d
2

=

AT 2x=71 = dx =
1 = .
I =—J‘“ log (sin7)dr

o]

iy
AT 1 =Jilogsillx‘¢{\‘=l

Unfiled Notes Page 16
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(F=m wme & TURA )
o (3) |

2/ =1-log, 2(\’)T

A AY 1‘]
sin| — [—==sm| —|-1
xJdx x X

AH e y=oaw

. dv .
sinv| v+ x— |=vsinv—1
dx

. v .
x&nriz—l g 99 W
dx

. dx
jsm vadv=—|—
X

¥

AT cosv=log—

.

X=ce

~

Jrerar
HEH THIEIOT H Tl B TR

P=2x, @=xsinx’
LF.=¢ Jra =e"
gel v (c ) = jc‘ﬁ.xsin x*dx

1=J‘e-":,xsin Xy (FH )

1 o
RE| ]:7jc',sm:‘dr U FH R

Unfiled Notes Page 17
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29.

30.

I :% e’ (sinr —cost)+c

= 1 . - 5
vy (t’ ]=—L’ (Sll‘l X —COS.\")‘FL'
4

SE] x=0 aemy=1
5

€=7 YIE ¥ W

4y (c"‘_) =¢" (sin x* —cosx* ) +5

I =5m+3n=0 (1)
7 +5m =3 =0 ")
W (1) | B AR wEL (2) v W
7(5m - SN)j +5m =3° =0

Ell 6™ —Tnn+ 2" =0

g7 (3m—=2n)(2m—n)=0

I m 0
qar TSRS a7
L J
I m n
=773 ElSICTE R

1}
a,=-1, h:: .o, =2
afe Yl & T @B BT g B, al
aa,+hbb, +oc,

cosb = = = = = = =
\/"’f +hT 4 ,\/crz‘ +bh, "+,

_Ix=1+2x]1+3x2
NI+4+9/1+1+4

I cosB

a1 0 =cos’ [—7 )
2421

AMT ORI TR VAT 6 ST B T B

Unfiled Notes Page 18
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dur E,: U WY WEN 6 TRl 3 @) ged 87

T A o 4 @ R UM BT I8TeaT,

9 W 3 grell 9T 6 8, sar

@ P(E)=

P(E)=

ol o —

A
f"(]_. ]= TR WY 6 @I AT Gl
E,

e g1 9ol b 919 9% 6 ure sai
g @ mfrwan

A
1’(1,.]= U U 6 T AR ST de

ek GRT 9T 6 O TR 6 T B3l
g @1 uirewdn

| A
7 1’(—]= wfgd gRT e die &

E,
uTﬁJT:WT:i
)] 4 N 5
qe 11,. = R gRT e ae @
I
uﬁ?FcH:Z

Unfiled Notes Page 19
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04T

ed & T 9o« # =7a (H) w8 (1)
U 3 Bl HIREaN &

]

l’(/):;

afe 57 foaw! ®1 v w1 Sule W
ferdi @1 W Y grT fAwfid &1 dr
X=0, 1,299 I 8F ©®

1

P(H)=

o] —

P(x=0)=—,
(x=0)=1
P(x=1) = M fFra a fgdm ge a1 yue ue
T fgdm
= P(HDY+ P (TH)
o111
=—X—+—X—=
2222
P11
—t—_—=—
4 4 2

Pe=2)= <1 &g s 9 wfiredar
111
=P (HHy= —X==—

272 4

T x P TG dea FEEER B

o | —
1| —
= -

P (x)

Unfiled Notes Page 20
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